
 

 

 

Answer Explanations

SAT Practice Test #2 
Section 1: Reading Test 
QUESTION 1 
Choice A is the best answer. The narrator admits that his job is 

 

narrator admits that his work is a “dry and tedious task” (line 9) and 
 

 

 

 

 

 

 

QUESTION 2 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

QUESTION 3 
Choice C is the best answer.  
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QUESTION 4 
Choice A is the best answer.  

 

 

 

 

 

 

 

 

 

QUESTION 5 
Choice D is the best answer. The narrator states that Crimsworth 

 

 

 

 

 

 

 

 

 

 

QUESTION 6 
Choice B is the best answer.  

 

 

 

 

 

 

 

QUESTION 7 
Choice D is the best answer.  

 

 

 

 

 

 

 



ANSWER EXPLANATIONS  

QUESTION 8 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 9 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 10 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 11 
Choice D is the best answer.  

 

 

 

 

 



 

 

 

 

QUESTION 12 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

QUESTION 13 
Choice A is the best answer.  

 

 

 

 

 

 

QUESTION 14 
Choice B is the best answer.  

 

 

 

 

 

QUESTION 15 
Choice C is the best answer.  

 

 

 

 

 

 

 

 

 

 



 

ANSWER EXPLANATIONS  

QUESTION 16 
Choice A is the best answer.  

 

 

 

 

 

 

QUESTION 17 
Choice C is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 18 
Choice C is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 19 
Choice A is the best answer. The data in the graph show that in 

 

 

 

 

 



QUESTION 20 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 21 
Choice C is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 22 
Choice C is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 23 
Choice A is the best answer.  
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QUESTION 24 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

QUESTION 25 
Choice C is the best answer.  

 

 

 

 

 

QUESTION 26 
Choice B is the best answer.  

 

 

 

 

 

 

 does not suggest he disliked Tolstoy’s writing style or 
 

 

QUESTION 27 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 



QUESTION 28 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

 

QUESTION 29 
Choice D is the best answer.  

 

 

 

 

 

 

 

QUESTION 30 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

QUESTION 31 
Choice C is the best answer.  
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QUESTION 32 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

QUESTION 33 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

 

QUESTION 34 
Choice A is the best answer.  

 

 

 

 

 

 

 

 



 

QUESTION 35 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

 

QUESTION 36 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

QUESTION 37 
Choice B is the best answer.  

 

 

 

 

 

 

 

QUESTION 38 
Choice D is the best answer.  
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QUESTION 39 
Choice C is the best answer.  

 

 

 

 

 

 

QUESTION 40 
Choice A is the best answer.  

 

 

arguing that men are lamenting, or expressing regret about, how their 
 

 

 

 

 

QUESTION 41 
Choice B is the best answer.  

 

 

 

 

 

 

 

QUESTION 42 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

 



QUESTION 43 
Choice C is the best answer.  

 

 

 

 

 

 

 

QUESTION 44 
Choice B is the best answer.  

 

 

 

 

 

 

QUESTION 45 
Choice D is the best answer.  

 

 

 

 

 

 

 

QUESTION 46 
Choice C is the best answer.  

 

 

 

 

 

 

QUESTION 47 
Choice A is the best answer.  
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QUESTION 48 
Choice B is the best answer.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 49 
Choice D is the best answer.  

 

 

 

 

 

 

 

 

 

 

QUESTION 50 
Choice D is the best answer.  

 

 

 

 

QUESTION 51 
Choice D is the best answer.  

 

 

 

 

 



 

 

 

 

 

 

QUESTION 52 
Choice A is the best answer.  

 

 

 

 

 

 

 

 

 

Section 2: Writing and Language Test 
QUESTION 1 
Choice B is the best answer  

 

 

 

QUESTION 2 
Choice B is the best answer  

 

 

 

 

 

 

QUESTION 3 
Choice A is the best answer  
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QUESTION 4 
Choice A is the best answer  

 

 

 

 

 

 

QUESTION 5 
Choice D is the best answer  

 

 

 

 

QUESTION 6 
Choice D is the best answer  

 

 

 

 

QUESTION 7 
Choice B is the best answer  

 

 

 

 

 

 

 

QUESTION 8 
Choice D is the best answer  

 

 

 

 

 



QUESTION 9 
Choice B is the best answer  

 

 

 

 

QUESTION 10 
Choice B is the best answer  

 

 

 

 

 

QUESTION 11 
Choice C is the best answer  

 

 

 

 

 

QUESTION 12 
Choice B is the best answer  

 

 

 

 

 

 

 

QUESTION 13 
Choice D is the best answer  

 

 

 

 

 

QUESTION 14 
Choice C is the best answer  
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QUESTION 15 
Choice C is the best answer  

 

 

 

 

QUESTION 16 
Choice C is the best answer  

 

 

 

 

 

QUESTION 17 
Choice B is the best answer  

 

 

 

 

 

QUESTION 18 
Choice B is the best answer  

 

 

 

 

 

 

QUESTION 19 
Choice A is the best answer  

 

 

 

 



QUESTION 20 
Choice D is the best answer  

 

 

 

 

QUESTION 21 
Choice D is the best answer  

 

 

 

 

QUESTION 22 
Choice B is the best answer  

 

 

 

 

 

QUESTION 23 
Choice A is the best answer  

 

 

 

 

 

QUESTION 24 
Choice B is the best answer  

 

 

 

 

QUESTION 25 
Choice B is the best answer  
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QUESTION 26 
Choice A is the best answer  

 

 

 

 

 

QUESTION 27 
Choice D is the best answer  

 

 

 

 

QUESTION 28 
Choice A is the best answer  

 

 

 

 

QUESTION 29 
Choice C is the best answer  

 

 

 

 

 

QUESTION 30 
Choice C is the best answer  

 

 

 

 

 



QUESTION 31 
Choice D is the best answer  

 

 

 

 

 

 

QUESTION 32 
Choice B is the best answer  

 

 

 

QUESTION 33 
Choice D is the best answer  

 

 

 

 

QUESTION 34 
Choice D is the best answer  

 

 

 

 

 

QUESTION 35 
Choice A is the best answer  

 

 

 

 

 

QUESTION 36 
Choice D is the best answer  
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QUESTION 37 
Choice A is the best answer  

methods used in repair shops, it suggests that repairing goods is seen as 
 

 

 

 

QUESTION 38 
Choice B is the best answer  

 

 

 

 

QUESTION 39 
Choice C is the best answer  

 

 

 

 

QUESTION 40 
Choice D is the best answer  

 

 

 

 

QUESTION 41 
Choice D is the best answer  

 

 

 

 

QUESTION 42 
Choice C is the best answer  

 

 

 

 

 

 



     

          

 

QUESTION 43 
Choice C is the best answer  

 

 

 

 

 

 

QUESTION 44 
Choice D is the best answer  

 

 

 

 

 

Section 3: Math Test – No Calculator 
QUESTION 1 
Choice C is correct.  

__4  

__4 ( )   

 

 

 

 

 

 

QUESTION 2 
Choice B is correct.  +  

 

 

 in  +  

 

 + , and 
substituting  

 

 

 and  are substituted into  +  
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QUESTION 3 
Choice A is correct.  

 

 working the job and the 
h, the job takes those  is the 

h hours, 
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QUESTION 4 
Choice A is correct.  

( )  )( ) + ( )   + )  

9 4 b  + 4b 4 ) b  b )  
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QUESTION 5 
_ 

Choice C is correct. k  _ 
k  

k k  

k ( k )  
 , or 

k k  

k k k  

k k  

k k  
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QUESTION 6 
Choice D is correct  and k  

m  
 _( ) and ( ,  m  passes through 
 

    

k must also be  k has slope   and passes 

through the points (  _ 
 

_ , or _4 _  
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QUESTION 7 
_Choice A is correct.
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b  _   
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b  
be rewritten as     

base , and  
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that ( b   + b  b  
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QUESTION 8 
Choice C is correct. The relationship between  and  

 must 
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, the 
 

 

 

greatest  

 

QUESTION 9 
Choice B is correct.  

 + , where  is the  

 

 in  + , or  
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  + , where  is the  

, or  

 =  +  

 is the b is the  

 and b  in the 
b b  
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QUESTION 10 
Choice C is correct.  
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QUESTION 11 
_Choice C is correct. To perform the division 3 − 5i 
8 + 2i , multiply 

_the numerator and denominator of 3 − 5i 
8 + 2i by the conjugate of the 

(3 − 5i )(8 − 2i ) 24 − 6i − 40i + (−5i)(−2i)
denominator, 8 − 2i. This gives .(8 + 2i )(8 − 2i ) = 

82 − (2i)2 

__ _ 14 − 46iSince i 2 = −1, this can be simplified to 24 − 6i − 40i − 10 = ,64 + 4 68 

_7 _which then simplifies to 34 − 23i 
34 . 

Choices A and B are incorrect and may result from misconceptions 
_ _ a _ b _ a _ babout fractions. For example, a + b is equal to c + d  + c + d 

, not + d. c + d c 

Choice D is incorrect and may result from a calculation error. 

QUESTION 12 
_ FChoice B is correct. Multiplying each side of R = N + F by N + F gives 

R(N + F ) = F, which can be rewritten as RN + RF = F. Subtracting RF 
from each side of RN + RF = F gives RN = F − RF, which can be factored 

as RN = F (1 − R). Finally, dividing each side of RN = F (1 − R) by 1 − R, 
RNexpresses F in terms of the other variables: F = — 

1 − R. 

Choices A, C, and D are incorrect and may result from calculation 

errors when rewriting the given equation. 

QUESTION 13 
Choice D is correct. The problem asks for the sum of the solutions of 
the quadratic equation 2m 2 − 16m + 8 = 0. Dividing each side of the 

equation by 2 gives m 2 − 8m + 4 = 0. Applying the quadratic formula 

8 ± √(−8)2 − 4(1)(4)
to m 2 − 8m + 4 = 0 gives m = , which simplifies to2(1) 
m = 4 ± 2√3. Thus the two solutions are 4 + 2 √3 and 4 − 2 √3, and the 

sum of the solutions is 8. 

Alternatively, the structure of the equation can be used to solve the 

problem. Dividing both sides of the equation 2m 2 − 16m + 8 = 0 by 2 

gives m 2 − 8m + 4 = 0. If the solutions of m 2 − 8m + 4 = 0 are s1 and s2, 
then the expression m 2 − 8m + 4 can be rewritten as (m − s1)(m − s2). 
Multiplying the two binomials gives m 2 − (s1 + s2)m + s1 ∙ s2. Since the 

expressions m 2 − 8m + 4 and m 2 − (s1 + s2)m + s1 ∙ s2 are equivalent, it 
follows that s1 + s2 = 8. 

Choices A, B, and C are incorrect and may result from calculation errors 

when applying the quadratic formula or a sign error when determining 

the sum of the roots of a quadratic equation from its coefficients. 
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QUESTION 14 
Choice A is correct.  
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QUESTION 15 
Choice D is correct.  
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QUESTION 16 
The correct answer is 3, 6, or 9. Let  
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QUESTION 17 
The correct answer is 19.   +  +  
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) + (9  
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QUESTION 18 
The correct answer is 12.  and  

 is parallel to 
segment , angles  and D  

 

is similar to triangle , , and E  

_ _ _  _D, , and    or    
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QUESTION 19 
The correct answer is 6.  

_ 
radius  is  ( )  ∠  _  

_  _∠  ( )  
 

 

QUESTION 20 
The correct answer is _28 or _14 or .25.  
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Section 4: Math Test – Calculator 
QUESTION 1 
Choice C is correct.  
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QUESTION 2 
Choice B is correct.  
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QUESTION 3 
Choice A is correct. m when  

 in m m  
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QUESTION 4 
Choice C is correct.  
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QUESTION 5 
Choice C is correct.  

 

 

 

 

 

 

 

 

 

QUESTION 6 
Choice B is correct. When 4 times the number  

 

 

 

 

 

 

QUESTION 7 
Choice D is correct. The  
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QUESTION 8 
Choice D is correct. k points and loses 
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QUESTION 9 
Choice A is correct.  
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QUESTION 10 
Choice B is correct. g  

(g g (g   

 

 

QUESTION 11 
Choice B is correct.  
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QUESTION 12 
Choice D is correct.  
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QUESTION 13 
Choice D is correct.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 14 
Choice C is correct.  
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QUESTION 15 
Choice A is correct.  
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QUESTION 16 
Choice B is correct.  
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QUESTION 17 
Choice C is correct.  

 

 

 



 

 

 

 

 

QUESTION 18 
Choice C is correct.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 19 
Choice B is correct.  
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QUESTION 20 
Choice C is correct.  
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QUESTION 21 
Choice D is correct.  
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QUESTION 22 
_ Choice B is correct.
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QUESTION 23 
Choice A is correct.  

 and  
_ , then 
4  , the intensity 

_   4  

_  as   ( 4  ) 
_  _    ,
4  ( 4  ) 

 

 
_  4  

 
_  4 
_  4 

 

 

_  _    4  ( 4  ) 
QUESTION 24 
Choice A is correct.  h, k ) and 
radius  is ( h )  + ( k )  +  + 4  
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QUESTION 25 
Choice A is correct. In the m  
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QUESTION 26 
Choice D is correct.  in 
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QUESTION 27 
Choice D is correct.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTION 28 
Choice B is correct. In the m  

 _through the points ( , ) and ( , ) is m  
 

_the line through the points E   is 
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QUESTION 29 
Choice B is correct.  in  + b  
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QUESTION 30 
Choice A is correct.  
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QUESTION 31 
The correct answer is 14.  
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The correct answer is 7.  
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QUESTION 33 
The correct answer is 11. ( ) passes 
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QUESTION 34 
The correct answer is 105. Let D  
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QUESTION 35 
The correct answer is 15. The amount,  
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QUESTION 36 
The correct answer is 32.  and MN are tangent to 
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QUESTION 37 
The correct answer is 3284.  
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QUESTION 38 
The correct answer is 7500.  

 

K  

_(  )  
K 

_by (  )  
K 

_ _(  )   
K K 

_ _that K   
K  



152982 COLLEGE BD sat study 2017_Text Sig 15                                     ]

152982 COLLEGE BD sat study 2017_Text Signature 15 Side B Yellow152982 COLLEGE BD sat study 2017_Text Signature 15 Side B Magenta152982 COLLEGE BD sat study 2017_Text Signature 15 Side B Cyan152982 COLLEGE BD sat study 2017_Text Signature 15 Side B Black                                    ] - 8.25 x10.875 - 3/16 HT -3/16 Spine -  48 page on 46x51.875

15

1515

00374-091 SAT 2016-17 PTR 2.indd   524 3/11/17   5:34 AM

tm
p

-1
3

6
1

9
5

3
3

6
5

.o
ld

.j
o

b


	Structure Bookmarks
	Answer Explanations
	Answer Explanations
	Answer Explanations

	SAT Practice Test #2 
	Section 1: Reading Test QUESTION 1 
	Section 1: Reading Test QUESTION 1 
	Choice A is the best answer. The narrator admits that his job is 
	 
	narrator admits that his work is a “dry and tedious task” (line 9) and 
	    
	   
	QUESTION 2 
	QUESTION 2 

	Choice B is the best answer.       
	   
	QUESTION 3 
	QUESTION 3 

	Choice C is the best answer.    
	   
	© 2018 The College Board. College Board and SAT are registered trademarks of the College Board. 
	QUESTION 4 
	QUESTION 4 
	Choice A is the best answer.       
	   
	QUESTION 5 
	Choice D is the best answer. The narrator states that Crimsworth 
	      
	    
	QUESTION 6 
	Choice B is the best answer.    
	    
	QUESTION 7 
	Choice D is the best answer.    
	    

	QUESTION 8 
	QUESTION 8 

	Choice D is the best answer.         
	      
	QUESTION 9 
	QUESTION 9 

	Choice B is the best answer.    
	     
	QUESTION 10 
	QUESTION 10 

	Choice D is the best answer.    
	     
	QUESTION 11 
	QUESTION 11 

	Choice D is the best answer.      
	Choice D is the best answer.      
	    

	QUESTION 12 
	QUESTION 12 
	Choice D is the best answer.      
	    
	QUESTION 13 
	Choice A is the best answer.     
	  
	QUESTION 14 
	Choice B is the best answer.    
	  
	QUESTION 15 
	Choice C is the best answer.       
	    

	QUESTION 16 
	QUESTION 16 

	Choice A is the best answer.     
	  
	QUESTION 17 
	QUESTION 17 

	Choice C is the best answer.          
	      
	QUESTION 18 
	QUESTION 18 

	Choice C is the best answer.    
	     
	QUESTION 19 
	QUESTION 19 

	Choice A is the best answer. The data in the graph show that in 
	   
	  
	QUESTION 20 
	QUESTION 20 
	Choice B is the best answer.       
	  
	QUESTION 21 
	Choice C is the best answer.        
	     
	QUESTION 22 
	Choice C is the best answer.    
	     
	QUESTION 23 
	Choice A is the best answer.    
	    

	QUESTION 24 
	QUESTION 24 

	Choice B is the best answer.       
	   
	QUESTION 25 
	QUESTION 25 

	Choice C is the best answer.    
	  
	QUESTION 26 
	QUESTION 26 

	Choice B is the best answer.      
	 
	 does not suggest he disliked Tolstoy’s writing style or 
	  
	QUESTION 27 
	QUESTION 27 

	Choice D is the best answer.    
	      
	QUESTION 28 
	QUESTION 28 
	Choice D is the best answer.        
	   
	QUESTION 29 
	Choice D is the best answer.  
	  
	    
	QUESTION 30 
	Choice B is the best answer.       
	     
	QUESTION 31 
	Choice C is the best answer.        
	Choice C is the best answer.        
	     


	QUESTION 32 
	QUESTION 32 

	Choice B is the best answer.      
	      
	QUESTION 33 
	QUESTION 33 

	Choice B is the best answer.      
	     
	QUESTION 34 
	QUESTION 34 

	Choice A is the best answer.     
	    
	QUESTION 35 
	QUESTION 35 
	Choice D is the best answer.        
	   
	QUESTION 36 
	Choice B is the best answer.     
	    
	QUESTION 37 
	Choice B is the best answer.     
	   
	QUESTION 38 
	Choice D is the best answer.      
	     

	QUESTION 39 
	QUESTION 39 

	Choice C is the best answer.     
	  
	QUESTION 40 
	QUESTION 40 

	Choice A is the best answer.   
	arguing that men are lamenting, or expressing regret about, how their 
	 
	    
	QUESTION 41 
	QUESTION 41 

	Choice B is the best answer.    
	    
	QUESTION 42 
	QUESTION 42 

	Choice D is the best answer.      
	     
	QUESTION 43 
	QUESTION 43 
	Choice C is the best answer.     
	   
	QUESTION 44 
	Choice B is the best answer.     
	  
	QUESTION 45 
	Choice D is the best answer.     
	   
	QUESTION 46 
	Choice C is the best answer.   
	    
	QUESTION 47 
	Choice A is the best answer.    
	  

	QUESTION 48 
	QUESTION 48 

	Choice B is the best answer.           
	     
	QUESTION 49 
	QUESTION 49 

	Choice D is the best answer.      
	     
	QUESTION 50 
	QUESTION 50 

	Choice D is the best answer.   
	  
	QUESTION 51 
	QUESTION 51 

	Choice D is the best answer.      
	Choice D is the best answer.      
	      

	QUESTION 52 
	QUESTION 52 
	Choice A is the best answer.       
	   


	Section 2: Writing and Language Test QUESTION 1 
	Section 2: Writing and Language Test QUESTION 1 
	Section 2: Writing and Language Test QUESTION 1 
	Choice B is the best answer  
	  
	QUESTION 2 
	Choice B is the best answer    
	   
	QUESTION 3 
	Choice A is the best answer  
	    

	QUESTION 4 
	QUESTION 4 

	Choice A is the best answer    
	   
	QUESTION 5 
	QUESTION 5 

	Choice D is the best answer  
	   
	QUESTION 6 
	QUESTION 6 

	Choice D is the best answer  
	   
	QUESTION 7 
	QUESTION 7 

	Choice B is the best answer    
	    
	QUESTION 8 
	QUESTION 8 

	Choice D is the best answer    
	  
	QUESTION 9 
	QUESTION 9 
	Choice B is the best answer   
	  
	QUESTION 10 
	Choice B is the best answer   
	   
	QUESTION 11 
	Choice C is the best answer    
	  
	QUESTION 12 
	Choice B is the best answer    
	    
	QUESTION 13 
	Choice D is the best answer  
	    
	QUESTION 14 
	Choice C is the best answer   
	Choice C is the best answer   
	   


	QUESTION 15 
	QUESTION 15 

	Choice C is the best answer  
	   
	QUESTION 16 
	QUESTION 16 

	Choice C is the best answer    
	   
	QUESTION 17 
	QUESTION 17 

	Choice B is the best answer   
	   
	QUESTION 18 
	QUESTION 18 

	Choice B is the best answer    
	   
	QUESTION 19 
	QUESTION 19 

	Choice A is the best answer   
	  
	QUESTION 20 
	QUESTION 20 
	Choice D is the best answer   
	  
	QUESTION 21 
	Choice D is the best answer  
	   
	QUESTION 22 
	Choice B is the best answer   
	   
	QUESTION 23 
	Choice A is the best answer   
	   
	QUESTION 24 
	Choice B is the best answer   
	  
	QUESTION 25 
	Choice B is the best answer     
	Choice B is the best answer     
	   


	QUESTION 26 
	QUESTION 26 

	Choice A is the best answer   
	   
	QUESTION 27 
	QUESTION 27 

	Choice D is the best answer  
	   
	QUESTION 28 
	QUESTION 28 

	Choice A is the best answer   
	  
	QUESTION 29 
	QUESTION 29 

	Choice C is the best answer    
	  
	QUESTION 30 
	QUESTION 30 

	Choice C is the best answer  
	    
	QUESTION 31 
	QUESTION 31 
	Choice D is the best answer     
	  
	QUESTION 32 
	Choice B is the best answer  
	  
	QUESTION 33 
	Choice D is the best answer  
	   
	QUESTION 34 
	Choice D is the best answer   
	   
	QUESTION 35 
	Choice A is the best answer   
	   
	QUESTION 36 
	Choice D is the best answer   
	  

	QUESTION 37 
	QUESTION 37 

	Choice A is the best answer 
	methods used in repair shops, it suggests that repairing goods is seen as 
	  
	  
	QUESTION 38 
	QUESTION 38 

	Choice B is the best answer   
	  
	QUESTION 39 
	QUESTION 39 

	Choice C is the best answer   
	  
	QUESTION 40 
	QUESTION 40 

	Choice D is the best answer  
	   
	QUESTION 41 
	QUESTION 41 

	Choice D is the best answer   
	  
	QUESTION 42 
	QUESTION 42 

	Choice C is the best answer    
	   
	QUESTION 43 
	QUESTION 43 
	Choice C is the best answer    
	   
	QUESTION 44 
	Choice D is the best answer    
	  


	Section 3: Math Test – No Calculator QUESTION 1 
	Section 3: Math Test – No Calculator QUESTION 1 
	Section 3: Math Test – No Calculator QUESTION 1 
	Choice C is correct. 
	__4
	  
	StyleSpan

	__4
	  
	()

	   
	    
	QUESTION 2 
	Choice B is correct. +     in  +   
	 + , and substituting   
	  and  are substituted into  +    

	QUESTION 3 
	QUESTION 3 

	Choice A is correct.   working the job and the h, the job takes those  is the h hours,     
	     h.  
	QUESTION 4 
	QUESTION 4 

	Choice A is correct. () )() + ()  + ) 9b  + 4b )b b ) b ) 
	StyleSpan
	StyleSpan
	StyleSpan
	4
	StyleSpan
	StyleSpan
	4
	StyleSpan
	StyleSpan
	StyleSpan
	 
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan

	b) b b b b  )b b 9b  + 4b b 9b  + 4b b) (9 + 4b ) + 4b )(9 + 4b  )(9 b  + 4b  b  + 4b  + 4b )  + 4b) (9b)(9 + 4b)(9 + 4b)(9 + 4b  term (9)(9)(9)(9  9b  + 4b  9b  + 4b  + 4b) 
	4
	StyleSpan
	StyleSpan
	4
	StyleSpan
	StyleSpan
	4
	StyleSpan
	4
	StyleSpan
	StyleSpan
	4
	4
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	 
	StyleSpan
	 
	4
	4
	StyleSpan
	StyleSpan
	4
	4
	4
	StyleSpan
	StyleSpan
	4
	StyleSpan
	StyleSpan
	StyleSpan
	4
	4
	4
	StyleSpan
	StyleSpan
	4
	4
	4
	StyleSpan
	StyleSpan
	4
	4

	QUESTION 5 
	QUESTION 5 

	_ 
	Choice C is correct.k  
	StyleSpan

	_ 
	k  k k  k ( k ) , or k k  k k k  k k kk 
	k  k k  k ( k ) , or k k  k k k  k k kk 
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	 
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan

	 

	_ 
	_ 
	k  
	StyleSpan

	_ 
	k in k  
	StyleSpan

	_ 
	k:   
	StyleSpan

	 
	_ k in k  
	StyleSpan

	QUESTION 6 
	Choice D is correct and k 
	m  
	_
	() and (,  m passes through 
	 
	StyleSpan

	  
	 
	StyleSpan

	P
	StyleSpan
	 

	k must also be  k has slope   and passes 
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan

	through the points ( , or  
	StyleSpan
	_ 
	 
	_ 
	StyleSpan
	StyleSpan
	_
	4 
	StyleSpan
	_ 
	StyleSpan
	StyleSpan

	  
	4 
	StyleSpan
	StyleSpan
	 

	  
	QUESTION 7 
	_
	Choice A is correct.
	StyleSpan
	 
	b 
	StyleSpan

	 
	 
	b_
	StyleSpan
	 

	   
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan

	b
	 

	b
	StyleSpan
	 

	be rewritten as     
	StyleSpan

	base , and  b    + b)(b  that (b   + b  b   b b 
	StyleSpan
	StyleSpan

	  b  
	StyleSpan
	StyleSpan

	QUESTION 8 
	Choice C is correct. The relationship between  and   must 
	_ 
	 
	 

	_
	 
	 

	 _ 
	 

	 <  must be an
	   

	, the      
	greatest

	QUESTION 9 
	QUESTION 9 

	Choice B is correct.  + , where  is the    in  + , or   
	_
	_
	P
	 


	   + , where  is the  , or   =  + 
	 

	 is the b is the   and b in the bb  b bb + b 
	   +   , b) lies on the  + b 
	 only  or b + b   
	QUESTION 10 
	QUESTION 10 

	Choice C is correct.     in the     has a  
	StyleSpan
	StyleSpan

	   
	QUESTION 11 
	QUESTION 11 
	_
	Choice C is correct. To perform the division 
	3 − 5i 

	, multiply _
	8 + 2i 

	the numerator and denominator of 
	3 − 5i 

	by the conjugate of the (3 − 5i)(8 − 2i) 24 − 6i − 40i + (−5i)(−2i)
	8 + 2i 

	denominator, 8 − 2i. This gives .
	(8 + 2i)(8 − 2i) 8− (2i)__ _ 14 − 46i
	= 
	2
	2 

	Since i  = −1, this can be simplified to = ,
	2
	24 − 6i − 40i − 10 

	64 + 4 68 _7 _
	64 + 4 68 _7 _
	which then simplifies to  − 
	34
	23i 


	34 . Choices A and B are incorrect and may result from misconceptions 
	__ a _ b _ a _ b
	about fractions. For example,  is equal to  + , not + . 
	a + b
	c + d
	c + d 
	d

	c + dc 
	Choice D is incorrect and may result from a calculation error. 
	QUESTION 12 
	_ F
	Choice B is correct. Multiplying each side of R =  by N + F gives R(N + F ) = F, which can be rewritten as RN + RF = F. Subtracting RF from each side of RN + RF = F gives RN = F − RF, which can be factored as RN = F (1 − R). Finally, dividing each side of RN = F (1 − R) by 1 − R, 
	N + F

	RN
	expresses F in terms of the other variables: F = — 
	1 − RChoices A, C, and D are incorrect and may result from calculation errors when rewriting the given equation. 
	. 

	QUESTION 13 
	Choice D is correct. The problem asks for the sum of the solutions of the quadratic equation 2m  − 16m + 8 = 0. Dividing each side of the equation by 2 gives m  − 8m + 4 = 0. Applying the quadratic formula 
	2
	2

	8 ± √(−8) − 4(1)(4)
	2

	to m  − 8m + 4 = 0 gives m = , which simplifies to
	2

	2(1) m = 4 ± 2√3. Thus the two solutions are 4 + 2√3 and 4 − 2 √3, and the sum of the solutions is 8. 
	Alternatively, the structure of the equation can be used to solve the problem. Dividing both sides of the equation 2m  − 16m + 8 = 0 by 2 gives m  − 8m + 4 = 0. If the solutions of m  − 8m + 4 = 0 are s and s, then the expression m  − 8m + 4 can be rewritten as (m − s)(m − s). Multiplying the two binomials gives m  − (s + s)m + s∙ s. Since the expressions m  − 8m + 4 and m  − (s + s)m + s∙ s are equivalent, it follows that s + s = 8. 
	2
	2
	2
	1
	2
	2
	1
	2
	2
	1
	2
	1 
	2
	2
	2
	1
	2
	1 
	2
	1
	2

	Choices A, B, and C are incorrect and may result from calculation errors when applying the quadratic formula or a sign error when determining the sum of the roots of a quadratic equation from its coefficients. 

	QUESTION 14 
	QUESTION 14 

	Choice A is correct.      grams t  (t   t 
	StyleSpan
	t
	t 

	    
	QUESTION 15 
	QUESTION 15 

	Choice D is correct. 
	Sect
	P

	 __
	_ 
	 
	 
	StyleSpan

	 

	 
	 
	 
	 
	 


	 
	 

	  
	StyleSpan
	 

	 
	 
	_

	 
	 

	 
	 

	P
	 

	 
	StyleSpan
	 

	  in the 
	 

	_
	_
	expression 
	 

	P
	 

	QUESTION 16 

	The correct answer is 3, 6, or 9. Let      and   and  are  that  then     
	QUESTION 17 
	QUESTION 17 
	The correct answer is 19.  +  +   b  ) + (9  +  +  +  +  b 
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan

	QUESTION 18 
	The correct answer is 12. and   is parallel to segment , angles  and D  is similar to triangle , , and E 
	__ _  _
	D, , and   or 
	D, , and   or 
	 
	StyleSpan
	StyleSpan

	 
	StyleSpan
	 
	StyleSpan
	 


	  +  
	QUESTION 19 
	The correct answer is 6. 
	_ radius  is  ( ) ∠  
	StyleSpan
	StyleSpan
	_ 
	StyleSpan
	StyleSpan

	_  _
	∠ 
	()
	 
	StyleSpan

	 
	 
	QUESTION 20 

	The correct answer is or  or .25. 
	The correct answer is or  or .25. 
	The correct answer is or  or .25. 
	_
	2
	8 
	_
	1
	4

	  +   +    bb 
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan

	__  _  _
	 ( ), or its
	StyleSpan
	( )
	 
	4

	b   may be  
	 +   +   , it 
	that 
	StyleSpan
	StyleSpan
	StyleSpan
	 
	4

	b 



	Section 4: Math Test – Calculator QUESTION 1 
	Section 4: Math Test – Calculator QUESTION 1 
	Choice C is correct.  dollars when the song is downloaded    dollars when the song is streamed  dollars when the song is downloaded  times and streamed  
	      
	QUESTION 2 
	QUESTION 2 

	Choice B is correct.  
	 
	 
	_

	  
	StyleSpan

	    
	  
	QUESTION 3 
	QUESTION 3 

	Choice A is correct.m when   in mm m mmm m 
	 m m m, in m 
	QUESTION 4 
	QUESTION 4 

	Choice C is correct.  M, where M is k 
	Choice C is correct.  M, where M is k 
	 Mkk   is M  

	  
	  
	QUESTION 5 
	Choice C is correct.   
	       
	QUESTION 6 
	Choice B is correct. When 4 times the number      
	  
	QUESTION 7 
	Choice D is correct. The         displays the  
	StyleSpan

	 the  
	QUESTION 8 
	Choice D is correct.k points and loses  k  k k 
	Choice D is correct.k points and loses  k  k k 
	   k  


	QUESTION 9 
	QUESTION 9 

	Choice A is correct.  is    +    +  
	      +     +  
	QUESTION 10 
	QUESTION 10 

	Choice B is correct.g  (g g (g   
	  
	QUESTION 11 
	QUESTION 11 

	Choice B is correct.   
	 
	 
	_

	  
	StyleSpan

	    
	      
	QUESTION 12 
	QUESTION 12 
	Choice D is correct.        
	       
	year
	below

	QUESTION 13 
	Choice D is correct.         
	            
	QUESTION 14 
	Choice C is correct.      
	Choice C is correct.      
	        


	QUESTION 15 
	QUESTION 15 

	Choice A is correct.   
	 
	 
	 
	ParagraphSpan


	  
	  
	_

	  
	   
	  
	QUESTION 16 
	QUESTION 16 

	Choice B is correct.    
	_7
	_7

	 
	      
	_ 
	_ 

	 
	did

	   _ 
	passed the bar exam is 
	   
	_7
	_7
	 
	 
	QUESTION 17 

	Choice C is correct.   
	 
	 
	 
	     

	QUESTION 18 
	Choice C is correct.           
	       
	QUESTION 19 
	Choice B is correct.    
	sorted in order: 
	 
	ExtraCharSpan

	 
	ExtraCharSpan

	 
	ExtraCharSpan

	 
	ExtraCharSpan

	   
	ExtraCharSpan

	  

	QUESTION 20 
	QUESTION 20 

	Choice C is correct.        
	_ 
	_ 

	pproximately 
	 
	 
	 
	_ 


	and 
	    
	      
	ratio
	total

	QUESTION 21 
	QUESTION 21 

	Choice D is correct.  take, , is || || 
	          
	QUESTION 22 
	QUESTION 22 
	_ 

	Choice B is correct., 
	4
	StyleSpan
	 

	_ 
	_ 

	  
	StyleSpan
	 

	4 _  _ 
	 by  
	 
	StyleSpan

	4 4 
	  
	QUESTION 23 
	QUESTION 23 
	  and  _ 
	Choice A is correct.
	StyleSpan
	StyleSpan

	, then , the intensity 
	StyleSpan
	4
	 

	_ 
	 
	 

	4 
	_ 
	 as  
	 

	( ) _  _ 
	4

	  ,
	StyleSpan
	 

	4 ( ) 
	4

	  
	_ 
	 
	StyleSpan
	StyleSpan

	4  _ 
	StyleSpan
	StyleSpan

	 
	4 _ 
	 
	4 
	 
	 
	_  _ 
	  
	StyleSpan
	 

	4 ( ) 
	4

	QUESTION 24 
	Choice A is correct. h, k ) and radius  is (h ) + (k ) +  + 4  
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan
	StyleSpan

	 +  + 4 
	StyleSpan
	StyleSpan

	( + 4) + (  
	StyleSpan
	StyleSpan

	( + 4  
	StyleSpan
	StyleSpan

	(  + (  
	StyleSpan
	StyleSpan

	(  + ( 
	StyleSpan
	StyleSpan
	 

	 
	   
	QUESTION 25 
	Choice A is correct. In the m 
	, ) and (,    
	through the points (

	_
	m 
	 at (b  _ b _ b
	StyleSpan

	() is m  + bb
	StyleSpan

	 
	_ b _ b
	b in mm  
	StyleSpan

	b
	b
	 
	  


	QUESTION 26 
	QUESTION 26 

	Choice D is correct. in the  ,  (  (  with  has  
	_  _ 
	 with   , and
	( )  
	 
	 

	 (  
	QUESTION 27 
	QUESTION 27 

	Choice D is correct.                 
	   
	QUESTION 28 
	QUESTION 28 

	Choice B is correct. In the m  
	_
	_

	, ) and (, ) is m 
	through the points (

	 
	 
	StyleSpan

	_

	the line through the points E   is 
	 _  _  _ 
	to   
	  points  and D  _ 
	line that passes through  and D  
	 
	 
	 
	 and D written as  + b, where b is the  diagonal E  bbb  and D is   

	  
	QUESTION 29 
	Choice B is correct. in  + b  + bb b   b bb and bb  
	StyleSpan
	StyleSpan
	StyleSpan
	 
	StyleSpan
	or

	b  parabola with     
	StyleSpan

	  
	y 
	Table
	TR
	4 

	TR
	3 

	TR
	2 

	TR
	1 

	–2 
	–2 
	–1 
	O 
	1 
	2 


	x 
	  

	QUESTION 30 
	QUESTION 30 

	Choice A is correct.  by drawing the six segments  
	_ 
	 
	_ 
	_ 
	_ 

	P
	_ 

	 
	   is , and  
	 
	_ 
	_ 
	 
	_

	  and the area 
	   
	   
	_ 
	_ 
	_ 


	is ()    
	is ()    
	StyleSpan

	  
	( 
	)
	4 


	_4
	_4

	  _ 
	StyleSpan

	  is  , lows that  
	 

	  
	QUESTION 31 
	QUESTION 31 

	The correct answer is 14.    is 
	_ 
	_ 

	then 
	  
	QUESTION 32 
	QUESTION 32 

	The correct answer is 7. h minutes in hh h 
	_ 
	_ 

	hh is 
	 
	 
	QUESTION 33 
	The correct answer is 11.() passes (   in the  , (  () in (  b   bbb bb bb 
	StyleSpan
	StyleSpan

	QUESTION 34 
	The correct answer is 105. Let D in the tutoring lab, and let   D +   D  D in D +     
	QUESTION 35 
	The correct answer is 15. The amount,  t t This amount t the tt t in t   t 
	QUESTION 36 
	The correct answer is 32. and MN are tangent to  and N and ONM are O O 
	__  _ 
	  is  
	   _ 
	is  
	 

	QUESTION 37 
	QUESTION 37 

	The correct answer is 3284. 
	_
	_

	  
	  
	( 
	) 

	Sect
	P
	_

	  
	  
	 
	( 
	) 


	 
	QUESTION 38 
	QUESTION 38 

	The correct answer is 7500.  K 
	P
	_
	  
	( 
	)

	K 
	P
	_
	by   
	( 
	)

	K 
	K 

	_ _
	   
	( 
	)

	KK 
	_ _
	that K  
	K  






